T i er® | el LIZ 10105
(Section B)

Q. No. 2 (i) GWEN: x4+t + x = 2¢

e w+ 12

To FIND:  Solution of) equabor

METHOD:  Factofization ”

CoLUTION .

Mulbplyng eack tem with the LCMo]) denominatox

7 J
LEM I ( »t!)

D Crl) [ oxety £ ) /o | = e etl) [ oag )

12 Catt)” + 2> 25xCntt)  afatb)’ G*r2abthb*

1o WP r2lel) & D= A€ £t + A8

L2t + 249012 + 120 - 20x* +28x%

SALT §F JAn412= 20 v+ 4 Al

Oz AT xr -4 n?* ¢ 2T - 24~ 12

X* % ~ld= O (Qtandmdboxm' al‘+bitc=0)

)
BY MiD TERM BREAK

X*+4n-30-12=0 ( ac=—l.l)
x(x+da)-3(w+4):-0 (-12- +qy_3)
(-3)(xt+d4)=0

Either X¥-3= 0 0k  W+4=0

ol : =41

Qol- geb = j-4,3F

-




C"INEN" S—I+1+S-|-K= 0

Q. No. 2 (ii)
TO FiNDE Cototion oD ea‘,uat‘.or\
CoLUTION:
g-fﬁl.{—sl-"l-:‘o . _
C. S-x a K. S_K—IO:O o al‘hﬂ'\= am_oﬁ
gl{§* ¢ § - 4)=0
E* 3 0 _ de D 0
g* a”
Talé'.nq LCM,
LSX3E* ¢ L~ 3CSM) =0
eaE . AT =D —_— 1)
let 4 g - {h)
QqUCbUr\q both <.del OD EC'P ('I)
= e 2
‘-I'L.:' SJ—L
Fquah'br: L) beu:-me_c.) n
4y*-23y+tli=0 s (ax* 41 busC=0)
By midlum bReak
] )
g I i S o
J J J
E9- 4 Y~Hg)aD
) )J J
(4-1 (\Jl*")';
Fithaj = j= O o% -1=0
‘ Ye | l ) 4=\
3 J
» value of) -| iz 1=
ertacmq qalua of) -1 i~ @ {u)
f= E*
¢*= 4
5 g5 o= 4

iBiegiee . oz iRl il i il s icmsiees R o o el
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To SHON i The equation nat equal gootS ( i-e oliSe = O)
CONDITION : > - a* (14 m-")

SOLUTION !

A+t (mrtc ) = "

x>+ () +(C) 4 20ma) ()= ~(a+b)ia*+b*1dob
Kbt 4 CH AmuC = a?

X*+m> 1* ¢ Il + %+ a*= 0
(\ +m=)x* + (2mc) L + (c*>-a*)=0

Compasing with,  AR* tBL+C= O
Here | A-{(l+m>) B= 2me

g*-4AC

, €= leto*)
Dite Uminanl =

Put%‘:nq value &

JDJ‘;C = (dmc ) - /-r(lfm*)(c*-a*)
= Yerc* -4 (2% 0 Frmrct—mtar)
= er/c - Y4c? +-‘-io‘._%*c t 4m>a*
= w41fc’“ +40* 4 4mra*
Duthﬁﬁ] valve o)) € = a*Cl+m*) _
Dlgc = —4[0*(I~tm*}j t40° t 4mta*
: -4 (a*ta*rm*)+ 4a* + 4m=a*
- - 4b* - dafm* t 4 ¢ b
Digc = O
Ae oaitc =0, thie mecant that

the equation had
equal 2o00lS becauie

i) b®-

4ac =0, then the yoots
ove vatonal (veal) anmd egua

Hence pxoved J
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Q. No. 2 (iv)
B T N§x"l

To FIND: o) Equation conne cbnqg w and 2

]
b) valu? o)) wnttanl

cy valve o[y W when 2= 115 /4

SoLUTION ¢

A w vonietl ierkS.“‘-\ al L
J

AN et |

e

Q) COnvekhnq Halgy) Equahbﬂ N = s A1)

K
Z

Duthnq «olue& op w,%

léf W Z

= £5)07)

b K= 3

Fq (i) be comel lN: 3S'| 1wy

R

cy VALUE OF W WHEN Z= 11§/4;

Potbing z= 175 in eq(il)
J L

l_’
w= 38
(15 /4
W= 33T = 178 o 3T x 4

< (1S

Nz 4 CO-B)f-
S |

RESULT: +E quation wnnecthing W ond 7z, e W=

: -
e« Value op K i8S 55'

R —— . " = —_— P——_— - P | ” I
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Q. No. 2 (v) C-”“EN: B A .
X 4 %
To PROVE ' X3 + 1P + &3 . 3 wyx
SoLuTioN ;, T 7 ere
i 5 9% ¥+ 2%« 334
as 3 C 3 abc
AS. a = kb=C
X 4 %
USING K- METHOD:
B =g =B Do, bep. t.K
I P % y %
| a-kxl  |b-ky|lc= vz
» Taking L:I-l*s: J)L& i
’ o b3 c3
Potﬁnc' valpe s OD a, b) C
= )1,5 1+ '13 4+ 2*
(ex)®  (q)®  (ez)?
= ¥ + x B4 =% 1 *1 =1 # B3 | _#)
L3yr kgt KPP K3 K3 K 3 K3
i TQltiI\q Q~I-|;:S: 3uyz
' ab ¢
Pobbng vawet op a,b, €
- 344z > 3 Az
(K1) (£9) (K7 ) 130 )
P ] -
K3

F&om eq, ,L',) and [.i'i)' L H'Sl ﬂ”‘&

R? 4+ 4% ¢ 22 . Beyz

Hence peoved !

as b3 ab (¢



Q. No. 2 (vi)
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AWEN: U= W

Q. No. 2 (vii) U:io}c,;}g’q 'f
A- 1 .0
B = ‘7_",2,3)4,- f
TOFIND : o, A/ '
by &'
) (AUFS))—'—' A/NB 7
SoLUTION !

ajyJ]A'= v- A

- 10,43,3 -§-1 f

- 10||’J;3’...,T

b) 6’:_ U"'B

v N 8ded o r-ii,l,;})*'f

: 1ol

¢y (Aue)’- A’ne’

e TAKING LWS : (Aus)’

(Ave) - § futl iy 53, - 1

& Tl';’aj"'f )

(Aug) /-  L- (AuB)

r 4

- jo,n',z_,a,~—-f~'{1,3}5,-i-f
= ) . CI

’ ) \
« TAKING R. WS : A/ng’ .
A7 10j |,1,3)'L!,--' j-
AT

A’NB'- D l,),---fﬂiﬁj
= ' iOil

)

F rom 1) and (1) L-Y-8 = 2.u-S

(Augj = A’087  Hence puavtd

( veuried )



Q. No. 2 (viii) CUVEN: X-JrinenNAax<6]

Y= ’11ltlePA1J_llf

)
TO FIND: a) ¥ and Y » taboloa poun

by ¥ x Y

¢) 2= Jlu,q)! %ry-4f§

SOLUTION :

a) N TABULAR FoRM:

=Y 1id,8,4 S

V. 12,35, ‘Ifr

by X xVY:

Number o) cement S i~ X x¥= mxn
= By
-| 20|

el 1 L3950 %] 2:85,1]

= I(l,l)_(! 3) {1, S)(i ‘1)

(3 21 @.3) (1, 5) (2,7).

(3,2) (3,3),3,9).(3, V),

(4.2 (4,3) &.5) (4, ),

[(<,2) (S’ %)LS’S)(S"UF

) ne..mou R =jltqy)inty=¢f

- J0,8) 3,3) (4, 0)f

DDmQ-‘-lla‘lr

Cowg .5 1 2,35]
J
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Q. No. 2 (ix) GIVEN. [Class tmitS Ftequer\cj
4- 6 (6
il 20
iR 13
(2-15 h T

T0 FIND: a) =¢f
b) £{ loq o
c) (Qeome tic Mean

SoLuTioN :

CLASS LIMITS | £ [x(Midpont)/logx [flogq X
4-6 10 s 0 .6Jqq0 6 .‘qc‘
1-9 J 0 g 6-9031| '8-062
10~ 12 (3 I 10414 13-S382
(3= 15 T 124 laagy| B-0227

Total - g0 46-6129

8) Ef~ 58

b) Sphlogx = €-99+18.0624 13.$382 18.0221
= “46-6129
C) (Greometric Mean : Anl:'nloql_z o x)
" ®f
® Ankilog (46 6129 )
Y.
G-M = =238\

G-x = 9558




Q. No.2(x) O VERIFY:(tan O+ cot O )(c0sO + 6in0 )=cec O+cwsec®
SOLUTION .
(tan O+ ot O ) wsO + S‘m@) = sec O+ psec® — (i)

Y

TARINGA LHS:
= (ban ® + ot 8) (0O t 8B ) . tan®= SnO ot O = |
,_/"b'tr\@ tcog@\/wggt Qin@\ 0L©O - tan®
leos ©  Sind )L /

Jaking LCM

z Q‘tn“'@i—co&“ ¢ ( s O t Gin® )
[ (0s®))(8in0) ) B L o _

- | v 08O 1t 8inO -+ tinttwr®= 1
(coc®)(cin®)

= cot® 1 tin O

(Lo‘:.@)(s.in@)

- cogf t  Sin/D
(cos®)(snO) (coe®)(GKO)
*— \ %
tin © coe O .
= cotee® + Cec 8 < eec O=1/cos®  cotecO= LfGnG
= Qec O+ wiecd | =t W)

Faom e¢q () ()
= J
LtH.S: n.“-s
(tan®+t wt® Y(&in O + cogl® ) = e O +cotec @

Hince proved :
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GLIVEN ! A B 6 A m-A—C-‘— LQem , ralA= 60°

TOFIND: mBC = ?
THEOREM . (m8() "= (m AC)" + (mhB)*~ J(mAB)(mAD)
¥ gsoLuTiON: e

(e BC )2 (Bl ) 4 (P B )~ 2(mAB)mAD) =) /

*In Otn‘1 tuw\qu 1he Lquowe OD (he Lide 41"—7/ f \
appos.tlfa to Qwu_ Qr\cl(ﬂ. & equal 1o :

the  Sum o Squones °I} gides wntaunna, d D‘ :

Q. No. 2 (xi)

the arnqle diminiched by twice the ()
J

etangqle contoined by oraz of) the ';.id‘- G
. J

and the pw‘letﬁof\ or iEb oD 1he othea. ”

I~ Zyt AdoC, ¢S &= batl = o3 ® =mAD
e —
hypotenuie r~ AC

base = coS €0° v dere
% 4 - dem
oL

nAD = e

Putheoq values o eq(})
E-BLY s L) 5 bg)* - L8] 13)
= €4 36- 24
[wnBC)= I8
Taking SquoAar ool
A V-= 28
mB( = Jd4 1 cm
RESLLT:
Lenca*ﬂ-\ o)\ B¢ 1S a{1 em .

L4

|

qfur.t::NS‘\‘lEz.vc'l'u:.u~1 I Beaw CD _| AR.



Q. No. 2 (xii) STATEMENT: Two tO«r\C]Er\t.‘- arawn tO a wrcle
[) Lo~ O po'nnt oolteide it O-U! iCLUCIL g u_,.\qth

C-llvEN- Two fanqmtg PA ond PB QLA € d&awa Dwm

o Pomt P ou[g.de the ciecle with centte 0. which imee]

lhe citele at “powntt A and B Regpe thcl~1
A rJ

FIGuRE:
//

T L--Ao

"DF

— e T

M 7

TO PROVE: o PA- P&

CoNSTRUCTION : piaw 6A LPA and 08 LPB . Toin D to P

PROO F: ' » :
STATEMENT ReASONS
In Lyt AS o
AORP < AODBP
siBP = ~DP cormmoON
ml OAP - ~nL0BP- Q0° Con Lt guction
sl = v DO R0dii of) some i tcle
AoAP = opaP H-$ postulale
BB o m?& %W&ponqu Sides oy
f_onqwent As. :

RESVULT . Hence pl,ouv_o{ ithat two (—anqtnt& drawn 10

& calrtle provs @ point outSidt it oxe Qqual i LGcltk
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C‘“vEN ' H\A—.;f\ 2 mE_f;‘

Q. No. 2 (xiii) ai —
mOA = 13 L, oM = €
TO FIND ! a)y value oD mB s ?
b) mlBOM: )
SOLUTION

1~ A OMA | b‘j p1thaqokus theorer
(h~1pot¢nus.t )% (base }* 4 C pe \pe endiculan)
(moA) *(mAM) +(m0M)
(13} = (maM) ¢+ (£)°

(mAM) "= 144
f AM ) Ilil‘f » Taking gquane Aool
mAM = 4 12 b
mA_M = 2 - LLtr\Clﬂ‘\ S alway 3 -Wc_)

AS AM = mB M - W




Q. No. 2 (xiv)
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(Section C)

Q. No. 3 (Page 1/2)
C"\lVEN: Com oy Squanc § of) 1twd digits DD a Po:‘-.-t'w(

iﬂl’(‘ilal- nwmbed i1¢ 65 and the Avmbe’ 18 9 'Hmﬁ‘;.'”'\c

fom pof ¢ dlcl'-l‘f--

TO FIND TP-:E nurnbexa

SOLUTION .

let 1he 2 digidS o)) number be W and Y

-

let 1he numbe 2 bf)

Lo R s |
A.O.C ‘
. [%*14>: €S| - 53
i ‘O’“j-" ‘l()uuj,)

IORt+Y~= q'tlfq"l

|
Wt~ a3 = 9y="

-

p & ﬂ 5' — [-l-\)

8Y SuBSTITUTION ME THOD,

pU'I_l"\f\q value oD v n eqr (IJ

' = ‘
flal” 97> 6S
E4ay> +4*-6¢

- - i =
laking squore ool |

JJ‘14— -;-[t

= 9 4 (.‘ﬁlnou -vt.)
3]

ot 1=| i~ eq (.I.IT)
w= 8C1)

%= B



Q. No. 3 (Page 2/2)
The L2 quuaed numbe 2 Sz D Y

_ 10B)+ A

- B0+

= B84

RESULT:

Loquuard aumber & B 1.
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Q. No. 4 (Page 1/2)
C1IVEN': au *

(1=w)( t+n*)?
To FIND : Pouba! prackon &

/
SOLUTION : /
Resolving into poakal DRQLHODQ , ,r
J * f’f [
41 = A 4+ Br+C T/ D)LfE.L _—
() (awe )k (rw) [ (enr)

Mo lhpNirq both  Sides with LeM /(1-x) Cirn>)*
]

An: A(ns)* + (ButC )("KJ'('H“)’rLDUE)U”’L)_ji
Atz AT w2 ) HBrtC) (14n2- -2 )+ Dn—Dn>y4

E~Ei
dut- Ar A +2AR" + B +Brb+ By -BX ! oK -Drt ¢
E- Eu
dp* - At B 4BU2L JART - But-0Ox*+ Bu-EC DL
+A+€
A= (A-B) x4 ¢(B ";)cj)ir(lAfBbD)x*
1: (6 - b+ D))L_?r Ul-rE) (i)
BY ZERD'S ME THOD,
pot (-A)=0/=> x=] wn egqli
40)* = ACIe 1)/ [60) 0 J1- 1) (41) ¢[DO) 1E]
fh=1] L
4 - A(J-)f—l-[(t6(0ﬂ+[0f5(0”
4 A C4)
)

|A$ ||/

COMPARINGY cOEFRFICIENTS




Frormm eq {{l)

Q. No. 4 (Page 2/2)
E 0= A-B / =
)L“; : O= B / —F
g g 4= J_A/B—ﬂ =
= O;_JQK-E'fD = Wi
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Q. No. 5 (Page 1/2)




Q. No. 5 (Page 2/2)




20978763

B a4 gialamian L il L i e i ik

Q. No. 6 (Page 1/2)
STATEMENT! D) two chowd & o) a ctcle qne wnqwcnt

be equidi 181 ant Dwm e chnlAE -

then 1hey will
FI GURE :

GIWEN: Two equal chordt AB and (D in o citcle
otl L A& ond ok LCD -

with cenlfe O tuck thal
TD Pﬂ-b\'e + Chotal S Ou.,L chu. distant Dwm cenlhe 17

oes B H = mOI{
CONSTRUCTION : Joim O to A ond € 1o poun Lyl Ac

AOH A and ADKC

PRODOF:
STATEMENT REASONS
Z.\_B & dbke chord and OT'( Ot I AB (<east CI;W.n)
bisectt AR i
mA_t-\ s (mIE:') ——li)
L
Sien Louly | €D & the choud oK L CD
and oO¢ bitecte it .
Tl = |l €0 ) — )
2
8ol _m AB = mCD ) Caiven
Av Pamwr #5320




Q. No. 6 (Page 2/2)

\n 2yt Ag
A OHA«s Aok ( .
m,LOH A =ms0KC= A" Cawven (o _Lb-,E)(O_'ElC-I—))
MmOA = mOC Radii o) Some urcle
mAH = o CK Abeady Pwv"zd
AonA 2 Aol HS postulale
mg_l—l i, maf- Corespording gides Q-D

conq awent Ag .

aESULT.'MenU_ r).,oqed thal i two chordt o)) © alc

OAL wnqweﬁl'JiRen theq will pe equdit tant DLD(Y’CL;M
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Q. No. 7 (Page 1/2)
STATEMENT: The mneaSunt DL I~e cent Al Or\c‘l_g

off minoA oAC o)) & dlcle ¢ double that o]y the anqle

Subten ded b4 1he [,Dms.ponogtf'{ﬁf ma'lo,t ol .

F\GURE //73\\\

7 &\
A

A\] /C

N\ —
GIWWEN! ABC it an ouc Py the citele with conlie O

v :
uch that 2 AO0C % {ke centrol anqle ond L ABC &

i1he crwrm anql.i-
TO PROVE: o 2 ADC = 2 (ms ABC)

CONSTRUCTION ! Toim 0 +to B and pwavce it to O
En, L8563 £8,L8 ;L6 "

Name the O.nC' leg

¥

PaooF:
STATEMENT Qe ASON
in A AOB
el |=mLl3 (y ||opposile anqles o conquuent Sides
inm A 80C i ]
T (iij Ofpoilﬂ_ ar\c![,cs QD wnthnt ¢les
in AADSG,
LS =il tmi3 1) Exlenal anqle of) 0 fuangle S
MLS = mld3 el 3= 2mLD C':Lual to ‘[I-J\E’ Cumn of) OPPO.{quo.
L(v) ﬁ ntenod onqle s
L Danen (u;Jc,mc:l @)
in A BOC,
mlE=msid2t+tmlL 4 ,[}.«) Exlanal ar\C‘LQ 8 equal 40 Su
I o) oppotile interarnal arnqle S-



Q. No. 7 (Page 2/2)

LT+l €= 2L (mli3+4 "’"La)

LS A a6 s 2nl34 2mml Y h Adding eq, (v) and(vi)
mLAOC = l(m/_ﬂ&C) l

RESVL: lence poved 1hal 1he measure o] contiol or\ql.(,

ofy minotL aul of cicle & dooble than the anqle

cwbtended by wirsponding rmajok OAL .
Iy g =
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Rough Work 1



Rough Work 2



